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N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. All question carry equal marks.

Attempt any two of the following:

What are the milestones in language development?

What is the difference between achievement tests and aptitude tests? Describe the
WAIS.

What is creativity? Describe the components of creativity.

Attempt any twg of the following:

What physiological factors produce hunger?

Explain happiness in relation to the ‘adaptation-level phenomenon’ and ‘relative
deprivation’ psychological principles.

Explain the term emotion and explain the two-factor theory of emotion.

Attempt any two of the following: :

Present examples and research evidence for the self-serving bias?

Describe the ‘Big Five’ personality factors and elaborate on the research findings.
How has modern research developed our understanding of the unconscious?

Attempt any_two of the following;

Please note: Use of simple calculator is permitted.

(i) Calculate the mean, median and mode for the following set of scores: (7 marks)
71, 67, 64, 72, 69, 62, 63, 70, 64, 68, 65, 61,

(ii) Are the mode and the median accurate representations of central tendency?
Explain. why or why not. (3 marks)

Calculate the standard deviation and range of the following set of scores and the z
score of 73.

87,82, 78, 76, 86, 73, 71, 77.

With an example, illustrate the use of inferential statistics in psychology.

Attempt any two of the following:

Giving examples explain ‘The Fear Factor’ — why we fear the wrong things.

What are the social effects of obesity?

Discuss the positive psychology movement.

(i) Prepare a frequency distribution table from the following set of scores: (6 marks)
70, 69, 68, 66, 70, 65, 70, 67, 69, 68,

66, 70, 69, 65, 66, 69, 69, 70, 68, 67,

65, 66, 68, 70, 69, 70, 67, 67, 68, 70.

(ii) Using diagrams, explain the differences between a histogram and frequency
polygon (4 marks)
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